. HH :2022.4.4 6:58
4 ARG =T &LF 4 R

BEfEAEH H 2022404 H03H (H)

{va 2N K4 7% b| A > |GROSS|HDCP | NET |crossis: e
1 | [EF 47 49| 96/31.0 [65.0 | 22
2 | Afx BBA 42 38|  80[14.0 66.0 | 2
3 AR RIA 40 42| 82|14.0 68.0 | 4
4 AR K 41 38|  79/10.0 69.0 | 1
5 |[H HO 39 44| 8314.0 [69.0 | 6
6 |RAI —% 45 46  91]22.0 [69.0 | 14
(A EY) 44 43| 87[16.0 |71.0 | 9
8 |MTF AT 50 44| 94|23.0 |71.0 | 17
9 |WEIR B 42 46|  88/17.0 |71.0 | 10
10 2 B 46 43| 89[16.0 [73.0 | 12
11 [ == 48 47) 95(22.0 |73.0 | 20
12 |®J)I Bt 43 39| 82/ 7.0 |75.0 | 3
13 |59 % 44 48| 92[17.0 |75.0 | 16
14 RA BR 46 43| 89[13.0 [76.0 | 11
15 |BA 39 45| 84| 8.0 |76.0 | 7
16 |fAH &E 47 45| 92|16.0 |76.0 | 15
17 | =i ek 41 42| 83| 6.0 [77.0 | 5
18 | ARk #i 45 41| 86| 8.0 [78.0 | 8
19 |Hkf fl— 47 48| 95/17.0 |78.0 | 21
20 | KH B 43 51| 94(16.0 |78.0 | 18
21 |fEug Lo 57 54| 111(33.0 |78.0 | 28
22 |{TEF IR+ 58 57| 115(36.0 [79.0 | 29
23 |HF wp 47 44)  91/11.0 [80.0 | 13
24 ||gy 2= 46 54| 100[20.0 [80.0 | 23
25 |1y A1 59 50/ 109(28.0 [81.0 | 27
26 |ZZH Ot 50 54| 104(22.0 [82.0 | 25
27 MR BA 49 46|  95/12.0 [83.0 | 19
28 |HIR W5 54 47| 101|18.0 [83.0 | 24
29 |EH kT 53 55| 108[17.0 |91.0 | 26
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